Date le seguenti funzioni reali f e g, definite nell’insieme che abbiamo denominato dominio naturale, calcolare

(fog)(z)+(gof)(x)

f(x) =log (x + senz) . g(a) = 1

flz) = —cosz, gz)=e
fl@) =z —log(l—2), g(z)=cosz
fl@)=tg(2z+1), g(a)=e"

f(@) = cos(bz), g(x) =log’x
flz)=sen(3), g(x) =113

f(x) =log(1+senx), g(z)=Ilogz
f(@) = ez, 9(x) =logz
f(x)=222+z, g(z)=e"T!

f(x) =z +senz, g¢g(z)=log(z+2)
flx)y=2+3, g(z)=1log(x+1)
flz) =3z +cosz, g(x)=log(x+1)
flz) =4e" +2, g(x) = cos(x +1)
flz) =2c +4dlogz, g(z)=a+1
f(z)=xz+sen(z+1), g(z)=a2a?

fl@)=a®+tglr+1), gl@)=a+1

f(x) = cos (k)éx) , glx)=z+5

f@)=sen(z?+z+1), g@)=z+1

f(@) = (1+logz)®, g(z)=cosaz



